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Across 11. Are indigenous 6. A common reason for a
1. The rate of physical Australians known for high man not participating in
activity with the levels of exercise physical activity
socioeconomic disadvantage 12. What are women more 8. What is the most

4. Who has a higher lack of
meeting physical activity

guidelines

~. Does a newborn have a
higher level of life expectancy
today or in the earlier years

10. Do males ages 75+ have
lower or higher levels of

physical activity

likely to be in

13. What is the outcome of
being overweight

Down

2. A main death in he earlier
years

3. A factor for lack of
physical activity

5. What is the outcome of
being unhealthy

common heart disease for
males

9. what percentage of
women do not meet physical
guidelines

14. What is the average hours
of physical activity for toddlers
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